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3 B O £07| 100.2| 8820 | 175.751.0; 141.7| 0.5, 1.5 1.046.0| 76.0/4498 248.94057 133.6
i
4.5 7 W |~ | — | — | — [60.5/168.1 0 2.5 0.5}36.5 60.3 — | — | —| —
6 O 5020 99.2 8720 | 173.7|39.0; 108.3] 0 . 1.0 1.0‘!59.0 97.5!3401 188.25145 169.4]
B 63(1r) B 1.0g/kg REARUEEEL (IR 6 9
g | wremmmeireen( TR = PR
i | TErksEy | R
v | BEY |, B 7
2 I m oI | % X w ow | HET
fil b /5 [N
B EDCH
SYBLE Y (4457) 45.5 | 45.5 | 8.0 | O | 1.0 | 1.655 | 100.0 | 25.40 | 100.0
svEgs 1REE | 49.0 | 45.0 1 6.0 | 0O 0 | 1.570 | 94.9 | 25.25 | 99.4
2 % R 154.0/41.0| 4.0 0 | 1.0 1.530 | 92.4 - -
3 B OB 69.0 | 28.0 | 3.0 0 4] 1.340 81.0 34.92 137.5
4.5 B 18 54.0 | 44.0| 2.0 0 0 1.480 89.4 — —
6 [ 47.0 | 48.0 | 5.0 0 0 1.580 95.5 25.65 | 101.0
HTE() W 1L0g/kg sl (RETH)
& s maE s TR e e
. HmRe | BmReg Cru”) | , AR
ifh = g 2| B ok | W Bk B R
Bl 7 Bk Em7 o R T Ty (HEY
R H#1™00.0 prpy | 1000 | 100-00 08 | o | o | %oo.og HE D srgy | 100-0
il (73‘\ e 2 o | P 6| B 4 e L4 L ¥
U S Ead  Eak Y YT [Eew  Eaw Ess
Y HLE B (45189)| 589( 100.0| 10700, 100.0| 9.5/ 100.0] 0 | 2.5 0 (88.0| 100.0/1017| 100.0, 9523 100.0
B 1 e 572 97.1] 13700, 128.0j13.5| 142.1] 0| 2.5 0 |84.0| 95.5/1850 181.9| 11508 120.8
2 B M 587 99.7| 11000, 102.827.5| 289.5 0| 1.5 0 71.0] 80.7|3025 297.4{ 7810, 82.0,
3 B B | 550 93.4/ 1000, 93.5[20.5| 215.8) 0 | 3.0| 0.5/76.0, 86.42050| 201.6| 7600 79.8
45 BE R | —| — — — |18.0 189.5 0.5 5.0| 0.576.0] 86.4] — | — — —
6 B [ 562 95.4] 11500 107.527.5{ 289.5 0| 2.0| 0 [70.5| 80.1)3163| 311.0| 8108 85.1
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HAZ(BEAO) R 7 REMEERE = QMBREEHE = BB #H=RARE

s = 57 153

BETH(r) IR 10g/kg O (KE7H)

£ = sk ek w0 0 = AT
& FHgaEN | TEE
i3 1 Im | m| | v & %ﬁﬁz] " M ﬁliggz)
il bl opisy | REX
o o . EeE ESE
PYEE R (BR)| 25.0 | 53.5[19.5| 2.0| 0 | 1.985 | 100.0 | 29.10 | 100.0
PeELEE 1 e | 41.0 | 46.0 [ 11.0| 2.0 0 1.740 87.7 32.30 | 111.0
2 ® B |53.0 38.0| 9.0 0 0 1.560 78.6 - -
3 % [ |50.0 43.0| 7.0 © 0 | 1.570 | 79.1 | 35.10 | 120.6
4.5 B [ | 59.0 | 32.0 | 9.0 0 0 1.500 | 75.6 - —
6 m B |50.5/40.5| 9.0 0 0 | 1.585 | 79.9 | 28.90 | 99.3

o, RETEEA2HNE= 95%32 Y 27.5% (&
Ef) =¥+ V. FRE 65 6 FiiE =39.0%
b FEE =BER L, FETHENEK
FEEAL T /YY) +. HEHRESEAHE=
* 2 UREREHMER 2 v P22 MR =8k
V. [=F 2y EyEamek, SEeErn
MR CAEERE ) aod=3trr», v I#
LI BE—R =L = 7N F 1R 7 %
AANEIBR, RIAALEE ) B = w37
N, BiE= A 2 v BB
=¥, % 6 ¥~ IBEINE = £HRE 2 248.9
9% (REE) =, A7 48 2 BE[E = 297.49% =
Whne V. HOEREAFRRE 6 BAFXIEN 7,
KL TR~ 1EENE =88 7 837 v n =,
2RERAE 2 VEEEE VB I IRRET R e Y.

4) BRiE=2 2 VIR R MR E BT
BREHBM L e AFBEI7 K v ). BrFaig
DY =TI =T 6 5 = N7 ~RETERT
7 1655 =%, 3IWERIH =~ 1.340 (R{ZfE) +
7V 781.0% =if L e, HETHE =7 458
HH =19853 Yy 1.500 (RMEMK) + >V 7 75.6%
=FBHAFNLBLTH Y.

5) ARYE= A & o V- M Bk R
KREO6 IR~ 1FFEA =~ 8MLT Ky ¥ v o
€, 3IFEHHE = ~HHEERT 7 2540p/5 =%
34.92p/ 5 = Hyhn s, BUAME 2 137.596 =305
AERE T Key. FRT - REERT
29.10p/ 53 = %>, 1BEHH = = 32.30p/4 + >

) FR#ET R e, 3ENE=RTY I ER

=fEE = > 7 35.10p/45 ¥ 5 U FHEAL 2 1206

9% =0 L HEREME 7 K V. 1T 7 6 R

H=rHEEre=8H=-27HHE ).
4 ERE E kg2.0g I BUEER

1) Rk
HABRFER P =BE IEEI REer /2
= FEMF AMEINTE A T VR,

2) Hmpki -

5 8 YR BeHLEE | FESIH = 99803 Y 7440
=iRA TR e w, 2EEHHE 3 ) @ERLERE
0 A 88 =18, 3% 6 EERIE =~ 13760
R 14400 (Bafe) v 7, R BIIE
21443% =% v Y . RKE 9 SRR M
I3, 3B =73803 ) 11800 (M)
FF V5 159.9% =8N V.

3) HEOMmMIKEHE

Bk =4 o IR IR E S, BBR
WABHFAHMTHK LY. HFREESHE=1
o, BEBRTRT 2 44.59% = %t o 3 EEH = 66.0
9% =, 6 BERHE = ~75.5% (Bifk) = Hin >, &K
RO =T, HHEERT, 1509% =% 38
[MH = 45.0% =, 6 B H = ~47.59% (F&ifH)
=€ Y. HERESEANMRE=A 2 v BT
YEFIER 2 Fov P B BEE =8k 7,
KEW =L V. [=F 2 v EFEAnER, B
Hrgrr B kR CABEERE ) BAE =BT
Y B~ = L = o FEER] > LR T S
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FFapiloBE

Fa ANBETBX, AR 2 B =7

T =32, V) Bl BRI 2 e 2 244.8

N, ABPE= A 2 VB Bk B~ BRI R YR 4TI =E Y. HEKEA~FEE 8 5
8 HE(A) BT 2.0g/kg Ewgl (RE84)
T 3 @?‘;\%‘Hm@ 11 5
g ) HEREAMKENE N BERF |
? FMERE | B MR ke Bt ) IR
i (= | 2| B K| LS R | BUIRE
R o 3 BES|  Em7 - %R emy BT EET
100.0/ . 100.0%&\ 100.0 ™ | g | &% gﬁ' 100.0) gy | 100.0, 0, 100.0
R ) F | HE I——lz/bi A AR Y2 bR L
D e -5 HAE  EAE EAE EoE  EA%
Py BT B (6586 )| 537! 100.0, 9980, 100.044.5 100.0| 1.5 0.5 0.5)53.0 100.0] 4441 100.0/5289] 100.0
YYELA% 1 RERE | £08| 94.6| 7440 74.5152.0 116.9. 0| 3.5/ O 44.51 84.0| 3869 87.1|33111 62.6]
2 B B | 505 94.0, 12620 126.5;58.0" 130.3} 0| 1.0 0.540.5; 76.4| 7320 164.8'5111 96.6]
3 ®m¢ [E | 556 103.5 13760 137.9'66.0‘ 148.3) 0| 0 0 [34.0 64.2] 9082 204.54679, 88.5
4.5 BF [ - — — — |74.5 157.4/ 1.0/ 0.5/ O 24.0: 45.3] — —_ — —
6 BF [ | 520 96.8} 144001 144.3[75.5‘ 169.7, 0/0.5 0 24.05 45.3! 10872/ 244.83456| 65.3]
A8 H(w) I 2.0g/kg REMHIULIL (K8 W)
, T .
© B = AT R T ) T = AT
TEstEy | AWE
ok B
,"%E Lpmpmy vy _— Hivo = w | HE%
fal [P /5 [N
o Ev FSE
YYELE R (B 41.0 | 47.0 | 12.0 0 0 1.710 | 100.0 30.17 100.0
HyELe 1REfS | 57.0(37.0| 6.0 0 0 1.490 | 87.1 | 33.40 | 110.7
2 B¢ f5 |(64.0)33.0 3.0 (4} 0 1.390 81.3 — —
3 B o 70.0 | 29.0 1.0 0 0 1.310 76.6 29.45 97.6
4.5 1% [ | 69.029.0 2.0, 0 6 | 1.320 | 77.8 - -
6 B f | 62.034.0] 4.0 0 0 | 1.420 | 83.0 | 29.25 | 97.0
BEIFK(4) MEAN 2.0g/kg FEniiesl  (RE 9 B)
— T .
s , , amannEsEB fr = kT
RMIRB | B MR (Fto”) IR
i CUEL Gl NP S =
- L A A A R
R BBC100.0) ey [ 10001, (100,08 | g | g2 " \100.0!3%( 100.0 e, 100.0
531 () e b L | e 1 2 i |47 | 5% Eﬁﬂw&)rx A L [N
M Esg EAE  [EHE Ea®  [EH% EaE
BN (B 471) 100.0] 7380, 100.0/15.0 100.0{ 0 | 1.5] 0.583.0 100.0;1107 100.06125| 100.0
PYELES 1 RERD | 482 102.3) 10100 136.9/17.5( 116.7} 0 | 0.5/ 1.081.0 97.6"1768 159.7/8181| 133.6
2 B Bl | 509 108.1| 10000; 135.525.0 166.7| O | 2.5/ 0.572.0, 86.72500| 225.8/7200| 117.6
3 m B | 486 103.2 11800, 159.945.0 200.0| 0| 1.5/ 0 [53.5 64.4‘5310 479.716313| 103.1
4.5 B /& — e — — 43.5/290.00 0| 1.0 O |55.5 66.5 — — — —
6 By % | 485 103.0 10020 135.8147.5 316.7; 0.5 1.0| 1.5/49.5 59.6}4760 430.014960 81.0
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HARERRR ) REMEGE = AMREEREL -~ BBH =R AFE=-KT 155

I (n) IEE 2.0g/kg MOpi  (RKEIBR)

= & = ogirva ks s PR ) B = B
& Pgswy | ERE
Wi g7
RF Lpm ) v v _— ¥1i00.o B ¥ | "00.0
b FP A
m max | NP | Emax
E@Eﬁﬁ(%mﬁ) 42.0 | 48.0 8.0 2.0 0 1.700 | 100.0 31.85 100.0
pydLs 1R | 46.0 [ 45.0 | 8.0 1.0{ O | 1.640 | 96.7 | 31.00 | 97.3
2 B om | 54.0%.0/10.0] 0 | O | 1.560 | 91.8 - -
3 m: g |64.0(33.0 3.0/ 0 | O | 1.390 | 81.8 | 33.55 | 105.3
4.5 @ m [ 54.0(39.0] 6.0 1.0 0 | 1.540 | 90.6 - -
6 [ 5 | 45.0 | 45.0 9.0 1.0 0 1.660 97.6 30.05 94.3

~EEE ) =L 7 RET K, BR
9uE~ 1 B =Winer =, v vDIgHES
P =T A7 e Y.

4) Bitk=F 2 o rgEE A MBS
MRE b e =REMXEHBE 7 e ).
B) 7B A EEE = B L =, B 8 g
HUERG 2 1710 =¥ 3BEME = 1.310 (B4
) vV 76.6% =L, FRIFPREE
B2 1700 =#F o 3R E = »~ 1390 (RAKMH) +
U 81.8% =L €V, Vv Ll M=l
o, 6MEHA = ~RE 8§k ¥ BE = 1

E£4E B

BRER =R~ 187 RET A e iR 7
3230ccy, KFAER=NF8HW I FET 2
SR 4B =0T, 2= 2R BEEkgR
2 0.3, 0.5, 1.0 & v 2.0g 58 7 {%iR5 MES 7,
il ve i RiEre = IR ET 7 U7 &, =
=7 Er o TR A 2 Mg IR
BBRBR IRV RN /8L, (feTk
MERE, FMERIR C&FEAMERE S ERLS 2 &
b7 HeEs 6 BRI HEBL Y. Mo TH« 7
HREAEANFE =B 3T =1N7 il e 7 P74
H=2RNFAER T e 7 =BT EFE TR <
v MR R (BEI0—13%, 251 —5 @).

1) FHmekd

EBMvEgL @I Rer®, —fK=Y

ANTHRFLVIE, FRIBANERHALTHRS
V.

5) ARtk = A & o i AL i Bk

RE 8 R~ IREERT 7 3017/ 53 = e, 1
FE B =~ 33.40p/5> + 2 9 5 110.798 =% 7
FeAAERE 2 St 7 K e =, 3BSMNHE = ~EK
fill=1key. FEIW IRMWE = FH 7
31.85u/4> =%fs, 33.55u/4% vV 7 ER{% B
e 7GR T R =, 6KIE = 30.05
p/o ) FE Y SRR WK T /MR T R
V.

&

7 RRRERSEE 7 v 7 2 7 7 RERARREIRASHN =
> 7, BUTEE 758 P IESEE - A g R~
A

2) EmEk

BB =R 7, KRR LEHE = ~#K
H 7 84296 =W 7 1A 7 Ke =, 2B
= 138.9% =38y, 4.5RHE = $HEE =14
Xy, 03g/kg HeHP) =5~ 2 BEHIH =~ 13
3.29% =, 3WERIH = 137.59% (BEifi) =8
v, 6 =~1220%7R¢ Y. 0.5g/kgi%
B =7~ 3BEMHE =~ 138.09% =3ins 6 R
fE =~ 128.0% 77t V. 1.0g/kg BBy =5
N2 B =~ 127195 =, 3FHEIH = 1346
%=, 6WHIH =~ 140.6% (Rifh) = ne
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FFee-mNl-HE

E10F PRI 0.3g/kg RIVEER / ME  (RE2®/T9)

bt & =] B4 sy fRAEF i e i
& il mo| OB | B& | O | ' | o% | &
i R | R | ZH | K | Cm| & | & | A
i B B 5 B g B 5 Ji:
R BT (BtE)| 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0
PyELEs 1 GRS | 100.6 | 117.1 | 105.5 | 103.6 | 122.7 | 121.9 | 92.1 | 100.7
2 B m | 104.0 | 133.2 | 155.3 | 62.3 | 207.0 | 80.7 | 89.9 | —
3 ® m | 9%.0| 137.5 | 144.4 | 73.2 | 207.8 | 93.8 | 88.6 | 103.6
4.5 B @ - — |146.2| 706 | — — 87.0 | —
6 f ml | 9.9 | 122.0 | 149.6 | 69.5 | 189.3 | 81.2 | 97.8 | 102.0
w11 B 0.5g kg e BUE ER 2 4 (RE2H /7 5H)
s * B o | s | me | we | | B
A i | B | E&E | oF | B | o | &
I B ® | Zo | K i % o
Al B B A =] g 7" 4y B
pymE g ()l 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0
yyws 1peRD | 108.9 | 87.4 | 106.8 | 98.0 | 91.9 | 86.1 | 90.8 | 117.4
2 W Rl | 98.4 | 100.8 | 151.2 | 81.6 | 152.4 | 81.9 | 8.5 —
3§ R | 101.1 | 138.0 | 201.5 | 62.0 | 280.2 | 84.0 | 86.6 | 102.8
4.5 B I - — | 2439 | 40.5| -— - 88.2 | —
6 [ | 101.3 | 128.0 | 184.2 | 63.2 | 248.5 | 74.9 | 90.9 | 97.8
L2k Bl 1.0g/kg IRHUERR 2 MFE (RE2H /W)
i # a | o | W | me | omw | 7| @
i i o oE | BE | J@ | B B | &
i ®olo® | Za B Zw | % | & S
izl ¥ B L2 " g " o BE
B R (1)) 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0
s 1RERY | 102.2 | 117.4 | 115.9 | 96.9 | 143.6 | 112.9 | 91.3 | 105.2
2 B opm | 1019 | 127.1 | 213.5 | 78.8 | 252.8 | 99.2 | 85.5 | —
3 p R | 96.8 | 134.6 | 178.8 | 81.2 | 225.3 | 106.7 | 80.1 | 129.1
4.5 p5 [ - —~ | 2288 73.4 | - - 82.5 | —
6 ® [ | 97.3 | 140.6 | 198.9 | 88.8 | 249.6 | 127.3 | 87.7 | 100.2
B3R R 20g/kg {REVEER S KuHE  (RE2HPH)
& # B e | owe | me | owe | 3 | B
it il mo| ol EE | g | ® BE | &
i I B N B LB B ¥ bl
A B L ¢ R El ’E =4 &y B
YR () 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0
Py 1 REE | 98.5 | 105.7 | 116.8 | 90.8 | 123.4 | 98.1 | 91.9 | 104.0
2 B f | 101.1 | 131.0 | 148.5 | 81.6 | 195.3 | 107.1 | 86.6 | —
3 ®F F | 103.4 | 148.9 | 224.2 | 64.3 | 342.1 | 95.8 | 79.2 | 101.5
4.5 B @ - — | 2287 | 55.9 | — - 84.2 | —
6 m [ | 99.9 | 140.1 | 243.2 | 52.5 | 337.4 | 73.2 | 90.3 | 95.7

[ 156 ]




HAZR(ER)RE 7 REMKES = AMFEEEE = BB M= RA A PE= K7 157

V. 20g/kg #= 72 BH =~ 131.0%
=, 3EHH = 148.9% (REME) =, 6 FH
H= 14019 =32 V. H5-%8E 7 8
AL = e F ek 2 38 2 RREE = M5
FrABT B, HYBMER =L FEE
BREER =R 7~ EMERE 2 BHE=HEA
B~ filv =B e, » s AHREREE

WM 2R #530cckE Nl

(K& 182)
R
B S e s BIMBRDY
¥ — —— E=ltmane
& R = B aE A ERY
Q ............. = oy 1 RmE
a4
&
2
130 4
140 120J
2
100
8
i It L LE
g
]
s
*

#I3E WAL 0.5g/kg M

(KR2H 7 4H)
FAER
oo AU
% = — — B = IEREAF
#% Bl = oBGF RN RK
- I 6 = i
£
"
240 L /“._
4
20 SN
/ 3
/ \
200 150 .
| / \
180 140 s
A A
160 130 - VA
16 120 ! ;
120 110 K
0 mw’
g W4
]
i3 — . ,
% 2w 1 2 3 45 [
& — Ea
N

=P e 7FFiH> Y ¥,

3) #EAMBE S

Bit=F 2 v R Mk E S, BRI
HRERE =, £EE=R7FTEer=
2 2T =, Bh= 2 FHE VEE Y
Y, 45 BEOHE = KSR Y. My
FV IEREANE-BHER =R re 3

B2 RIS 0.3g/kg HH

(RE 25 7 #H)
.4
7
® p bt
g . - R
£ - = -~ — B =rFgnnE
" Wl = Pt T et
200 150 1 seceevsomnasen MBI = SHIT A
180 140
160
9
120
100
i
=3
E3 —
ﬂ_g Y7 2 3 45 [
4 — & Ay
E

AR B 1.0g/kg $eH

(FE 28 7 5°H)
® SRMERE
X coeeoeeee EARUREY
% ~ — — E=EEEas
g B = bR s RN
B e B = gzt
1

240 1

20 A

200

160

160

140

120

100

®

%

-

T

a7

5]

S

= omm 1 2 3 45 6
— @
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158 FHewil-HE

BSHE WA 2.0g/kg A

(RB2H 7 3H)
HMERY
w e - BARE
o —— Br=IEE AT
& W= BERFL B
R s i Te L
B
m -~
240 1 -
] -
—
20 /
20 1504 lo
5
180 140 /

BPRIFR 8 IE -

W 2 45 8
— 2 8 5

JefMrvedEn =F=v7, HVEHAR=I
Bl 7 BE L P7 B2 ). HEHREHE
N, Bt O UHERERIEE 2 v v B2
MR =8k ). Bk Fmek 2 552 =5
7o, BRI = RN 24 ) B 7R
e I2fEenE, VM= RF =81
I REELH Y BRI = > 5, 55>
MER 7 "FxAAHTEX. HIRKHLEE 2
BHE =87, Bih=F 2 gt Bk
BREER=Nrra ) ekr =% 187
Hey., BIFkx o REE=078r =, B
B = N7 2 FEHE = HE 7 161.7% =.
0.3g/kg £ = 7~ 3 Bl H = 207.89% =, 0.5
(kg $eH =5~ 3 5HH = 280.29 =, 1.0g/kg

EOE

BRERE=11TH 7857 BEY kg # x 0.3,
0.5, 1.0R ¥ 2.0g587, 20/5%40cc 7 %iEE =
B 7, FBtpHEeT = BRET 7 L7
v, %6 KB BT T, EheF
Btk = 4 & g anRBERY v =Fv )

M =7~ 2 Rl H = 252.8% =, 2.0g/kg #H
=57~ IEENHE = 342.19 =380 7 A4
Y. BlFEm REAEE = ILH] > 7F
70 ¥, IREIREABRER = 7~ HLBHTE
A1, 0.3g/kg K ¥ 0.5g/kg L = 7 ~EEHE
I WRBAL 7 Kere, 10g/kg KB 2.0g/kg
BH = F—fF =W+ AL T R ¥V *,
5) Bik=# o v EREHMIRBEEE)
MR =K Y 7, AT =BHER =)
STy ) =ERFIALEBREI T KLY, T
7 A~ EEBEA 3 AEASHRIE =Y 2
PR eER =7, V VB RE =R~ Y.
Bl 7 kv 7 FEESER= BABL =, Bl
BEER=N7 2 ENEE LT Ry X573
FEE = BHIEIE 2 93.9% (REMH) =« V.
0.3g/kg $¢H =57~ 4585 H = 87.09 (KAL)
=, 0.5g/kg el =7~ 3 B H =86.69% (A
i) =, 1.0g/kg %8l = 7~ 3B B =80.19% (I
&fK) =, 2.0g/kg il =5~ 3R E = 79.29%
(BAEAR) = ERF AL 7K Y.
5) Eik=A 2 v B BRI
Wikf= 2 ) FEBRMvES L I E=RF
Wekene 2 BT K Y. Br Fe4E (0.3g/
kg) R AR (2.0g/kg) HE=0F», Vi
A TRE = FE-BHER =B
VIZRIMWALT BR. fERES 0.5g/kg
T 1.0g/ kg 8l = 7 o~ FW L HRERE 7
ey, BIFRTE~1RHE = BE 7 1174
%=, HAEIFEME=129.19% =FEFF 1
RERET K V. M ORE =7 ~MIv=H
JRE =EFx V.

8

AL 7 8L 7, PFe 7 RmEkl, HimskE
ReEBMANKESHE 8L T B, 27
E=HER > 51T~ A iR 7 2 30ccfi il
VBRI FILBER s TR AR T 8
.
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H AR (IR BEL 7 KR Mk (R R = O mERE L o = BB B = REAFE =17 159

BRI =3y 7,

1) FzkY =B s 8T Y X.

2) B mEREA~Hn .

3) HHENRENE= BT, Flk=F
VBRI~ =0 >, SN2
MR =8 ks FEP e Y . [=d o v R
Ik, BESErEArEE Bk R v A Bk = 55
AN—ff = A2 5 VR, HRME=
I o v AR TR = e ).,

4) Bt =2 2 v A nRERE, &
B EFBE) 7 K, 3 hE45RERE =7

7V I REREFN Y.

B) itk =4 & v BEEME M BREE ST
A% (0.3g/kg) B ¥ Kk (2.0g/kg) B = 12 7
, BIREER =15 v v ESRTRE ) B T
A =@XyY o=, h%ER(0.5g/kgK v 1.0g/
kg) FHEM =N, 1J0FE 3 RHE =%\
NERERET R Y. e 7 6 FEE = T v
=RHE -~ Y.

6) EZ, WE/HEERAEMN= N7 ~EHlL
BE L BTESBE T KA = 7 >
V.

E B X K

1) JEEX, Y. 2) EILE®, Ak
JHBE) /A KRKEE. 1288 4
%, 1636K, RIS, 3) BE—%k, XRAE,
piR—i8, BPEW, Wit = Mincalin ) SKEM

WK = B A, B AR TEERE, 24, 122
", g2, 4) KREXES, X r@EE. 8%,
84, 556E, H4ll,

C 159 )



